Divide larger numbers by 1-digit numbers: Interpret remainders

1.  Mary owns a restaurant with a{bo t 7 employees. She pays each employee an amount of
$826 perweek., At the end of the week, she withdrew $5,785 from the bank to pay her
employees. How muc ill she be left with after paying all her emloyees?

X
=

2. Collins bought a lego kit/of 820 pieces. If he intends to give 6 of his friends an equal

mount of legos, how many pieces will each friend get? How many pieces will be left
or himself?




i‘_‘ Divide larger numbers by 1-digit numbers: Interpret remainders

1.  Mary owns a restaurant with about 7 employees. She pays each employee an amount of
$826 per/week. At the end of the week, she withdrew $5,785 from the bank to pay her
employees. How muc ill she be left with after paying all her emloyees?

To solve this problem, we have to divide $5,785 by 7

826
715,78
_ 564
18

- 14y

45 Therefore, since the remainder is 3, she will be lef
L A9
3 = Remainder

2. Collins bought a lego kit/of 820 pieces. If he intends to give 6 of his friends an equal
mount of legos, how many pieces will each friend get? How many pieces wihl be left
or himself?

To solve this problem, we have to divide 820 by 6

136

6/ 820
_ 64
22

- 18+

40

- 36

4 < emainder
Therefore, each friend will get|136 peices of lego kit and he will be left with 4 peices of lego kit
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